'Population Problems — SHOW ALL WORK!!

Given the following information, answer questions 1-4.

Schuhlsville is an island of 5000 square miles off the coast of Jabooty. There are currently 250,000
inhabitants of the island. Last year, there were 12,000 new children born and 10,000 people were
recorded as deceased.

1. What is the current population density?
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3. What is the population growth rate (r)?
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4. In how many years will the population of Schuhlsville double?
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Given the following information, answer questions 5-8.

The country of Transylvania contains 2.3 million people (vampires not included) and covers
800,000 square miles. In the year afier the last census, there were 109,000 new children born and
111,000 people died.

5. What is the current population density?
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6. What are the birth and death rates? .
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7. What is the population growth rate (1)? -
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8. In how many years will the population of Transylvania double?
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9. Given a 2010 world population growth rate of about 1.3% per year, how long would it take the world’s

population to double?
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10. If a country dOuble's its population in 56 years, what has its population growth rate during that time?
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11. Calculate the growth rates and doubling times for the countries listed below.
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12. What would happen fo the pepulatmn grewth rate of a’ country that ma.lntams a h1gh crude birth rate of 32
' but was able to reduce thelr crude death rate from 28 to 127°
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What would happen to the doubling time of this country?
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